Homework Set 11 D
PH 112 – 10
Q1.	A wheel is rotating about an axis perpendicular to the plane of the wheel and passing through the center of the wheel.  The angular speed of the wheel is increasing at a constant rate.  Point A is on the rim (edge) of the wheel and Point B is midway between the rim and the center of the wheel.  For each of the following quantities, is its magnitude larger at Point A or at Point B, or is it the same at both points (please justify your answers for each part!)?  (A) angular speed; (B) tangential speed;         (C) angular acceleration; (D) tangential acceleration; (E) centripetal acceleration.

P1.	A bicycle wheel has an initial angular velocity of 1.50 rad/s.  (A) If its angular acceleration is constant and equal to 0.300 rad/s2, what is its angular velocity at t = 2.50 s?  (B) Through what angle has the wheel turned between t = 0 s and t = 2.50 s?

P2.	A turntable rotates with a constant 2.25 rad/s2 angular acceleration.  After 4.00 s it has rotated through an angle of 60.0 rad.  What was the angular velocity of the wheel at the beginning of the 4.00-second interval?

P3.	At t = 0, a grinding wheel has an angular velocity of 24.0 rad/s.  It has a constant angular acceleration of 30.0 rad/s2 until a circuit breaker trips at t = 2.00 s.  From then on, it turns through 432 radians as it coasts to a stop at constant angular acceleration.  (A) Through what total angle did the wheel turn between t = 0 and the time it stopped?  (B) At what time did it stop?  (C) What was its acceleration as it slowed down?

[bookmark: _GoBack]P4.	An electric turntable 0.750 m in diameter is rotating about a fixed axis with an initial angular velocity of 0.250 rev/s and a constant angular acceleration of 0.900 rev/s2.  (A) Compute the angular velocity of the turntable after 0.200 s.  (B) Through how many revolutions has the turntable spun in this time interval?  (C) What is the tangential speed of a point on the rim of the turntable at t = 0.200 s?  (D)  What is the magnitude of the resultant acceleration of a point on the rim at t = 0.200 s?  (For extra credit, compute the direction of the resultant acceleration – make sure that you indicate your reference!)
